S UNYGEG

XERBFX6EBZHNHEEH



01/FOR SONY FX6
E4S @R

SFO004™.._

RS @AM FRES .

SF0001 TRLFR ES-T20-TH @‘4
SF0002 A EFIR ES-T20-TH2

SF0003 SIEETRIR ES-T20-MTP

SF0004 15mmERK ES-T20-SRH

SF0002

SF0005 | EfBfite-vO ES-T20-BTP-V

SF0006 | EFBHtE-=AKN | ES-T20-BTP-AB

SF0007 e ES-T20-SA
SF0008 AR ES-T20-B
SF0009 Bz ES-T20-WvM
SF0010 CRRE ES-T20-QRBP

SF0011 fEREEVOstEs ES-T20-BTP2-V




1. B REHEEBI L (TRBABERREBELZE).

X




EL 0

? 1/4*10 8257

EEBPNLE.

iR

b R, K




X

04 =EWBHERRR

> REME .
BHZEERREN @R RLILE.
(MELERWM, TRERRKY. )

@O
M4*10 82§T

2.1@IME* 16884
BHHEETIR L.




05 zzEEZE

P MEGLI, BEETREEE Q)
W E1/AERAL L
(B RTRBEEER, 1808
BERER. )




06 =EcRFRMEMALTR

ZEOEMAEFR. B EFREWEAEH
HEEBEN L. (EFRITFESBN, BLELD)

REQBHLEFR. BE1/ABLEHRER
TR ER91/4 B 627 L.




1. B EFRAM80° HRMEAENX, FRUTEBEBTRETO.
2. iR EIRREN, KETREEEHRRLE.

(3 MERBERAFED, THER BAEXR.

07 emrFEnEnEs




08 wvnpte/mmOs

1. B EBITEN R,
2. WHEFA TR,
3. YiRBY, THRE.

'S

T _&“\J !

)

RRAME




09 zvoses/zrOses

BVOMB/REOMBIORBEEANE L,

TIETHE,




ee |

10 =x15mmERMEEVOME |

P BEDISMmEX. BHEX ENFHEHEUREEINL,
BFREREVOME.

P REQEHVOME. BEEVOM{ENSERT15mmER
FRMFHUME, TRBENR LR,




I [7X7)
- -
11 FOR SONY FX6
&
2@
OVERVIEW
PRODUCT NAME  SKU
SF0001 | Top Handle for Sony FX6 ES-T20-TH
Adjustable Top Handle o
SF0002 for Sony FX6 ES-T20-TH2
Multi-Functional Top Plate o
SF0003 for Sony FX6 ES-T20-MTP
15mm Single Rod Holder _To()
SF0004 for Sony FX6 ES-T20-SRH
Battery Plate for Sony FX6 oo
SF0005 | 10 mount ES-T20-BTP-V
Battery Plate for Sony FX6 o RO
SF0006 ~ Gold Mount ES-T20-BTP-AB
SF0007 | Side Arm for Sony FX6 ES-T20-SA
Vertical Mounting Plate for o
SF0008 Sony FX6 ES-T20-B
Wireless Video Mounting o
SFO009 | Bracket for Sony FX6 ES-T20-WVM
Quick Release Baseplate o
SFo010 | 20 Sony FX6 ES-T20-QRBP
Battery Plate for Sony FX6 o mTEo
sro0t1 | o e T ot ES-T20-BTP2-V




X

INSTALLING QUICK
RELEASE BASEPLATE

1. Install the quick release baseplate to the camera and tighten
the tie down screws.(Please install the lens support if it's
needed for your setup.)




X

‘INE‘:TALLING MULTI-FUNCTIONAL TOP PLATE

? 1/4” x 10mm screw

install the multi-functional top plate.

p Align the threaded screw holes, and




@@
14 INSTALLING SIDE ARM & VERTICAL
MOUNTING PLATE

p Installing the Side Arm
Align the screw holes on the side arm with the screw holes on the
top plate and the quick release baseplate.

(The side arm has reserved space for side arm stickers
for labeling cameras.)

2. Secure the vertical
mounting plate to the
top plate by tightening

the M5 x 16mm screws.

M4x10mm screw

@6




)

Is| WIRELESS VIDEO MOUNTING BRACKET

1/4” =20 threaded hole with locating points
( The wireless video mounting bracket can be
turned 180° for your setup needs. )

wireless video mounting bracket to the
on the side arm.

» Align the screw holes and install the




2o |

[
IE‘ INSTALLING TOP HANDLE & ADJUSTABLE TOP HANDLE ‘

» Install the 1) top handle. Tighten the tie downs on the top
handle.(The top handle can be adjusted forward and
backward.)

» Install the @ adjustable top handle. Secure the handle to
the top plate by tightening the 1/4" —=20 screw.




2 2

I7 ADJUSTABLE TOP HANDLE &
VERTICAL SHOOTING MODE

1. The adjustable top handle can be turned 180° to support vertical shooting
mode. For better operating help finding the center of gravity, adjust the handle
forward and backward.

2. When shooting vertically, the quick release baseplate can be installed to the
vertical mounting plate.

The built—in monitor
mount supports the
original monitor bracket.




X

I 8 INSTALLING V-MOUNT & GOLD
MOUNT BATTERY PLATE

1. Align the battery plate with the battery chamber on
the camera body.

2. Push down to lock into position.
3. Tighten the screw to complete the installation.

'S

5

Gold Mount V-mount Battery
Battery Plate Plate — Type |




XC)

MOUNT BATTERY PLATE

Ig INSTALLING V-MOUNT & GOLD

Connect the battery plate (V-mount or gold mount) and the camera via the power cable.




R

INSTALLING THE 15MM SINGLE ROD
HOLDER & THE V-MOUNT BATTERY
PLATE TYPE 11

» Install the 1)15mm single rod holder. Tighten the tie downs on
the rod holders to secure them to the camera.

» Install the @ V-mount battery plate type II. Insert the rods on
the battery plate into the rod holders and tighten the tie down

to complete the installation.




TILTA FOR SONY FX6



